FIRE | Hose Shelf Installation*

*Available for 24" wide lockers only

Tools Required:

» 7/16" Socket and ratchet
* 1/2" wrench

Parts
(12) BRACKET, L.H. BRACKET, R.H. J-HOOK
. QTY -1 @ QTY -1 QTY -2

(17) SHELF TUBE 1/4-20 x 4-1/2" BOLT (19 1/4" WASHER
QTyY -2 QTY -4 QTY -4
'R
0
(20 WEDGE NUT (21 BOOKEND N (29 5/16-18 NYLOCK NUT
QTY -4 QTY-PERORDER /| || QTY-2
I 1 - \
{f W
-"I.'f "I". - \ oy
VA5 \f

THANK YOU FOR CHOOSING GEARGRID for smarter, stronger, storage solutions.

670 SW 15th Street, Forest Lake, MN 55025 | Toll Free: 888-643-6694 | 651-464-4468 | Fax: 651-464-4780
sales@GearGrid.com | www.geargridcorp.com



Hose Shelf Assembly

Step 1: Locate the following parts from the list: Install bolt through the washer and through the outside

of the side bracket. Place the wedge nut inside the

Part Description Quantity U-Channel and thread the bolt in. Do this step for

= both sides, as shown in the photo below. Ensure the

#18 1/4-20 x 4 1/2” Bok 4 orientation of wedge nut is as shown. Do not tighten

#19 1/4" Flat Washer 4 bolts at this point.

#20 Wedge Nut 4
#14 Bracket, L.H. 1
#15 Bracket, R.H. 1

Step 2: Locate the following parts from the list: Slide shelf tubes over the U-Channels on one side of the

bracket as shown in the photos below. Next, slide the

Part Description Quantity book end over the shelf tubes with the book end angled

Y Book End 1 in towards the center. Then, install the other bracket

side over the other end of the shelf tubes. Push the hose

#17 Shelf Tube 2 shelf together and tighten the bolts. Do not over tighten

because deformation of the material will occur.

Hose Shelf Installation

Step 1: Locate the following parts from the list: Install assembled hose shelf by hooking it to the back
panel on the unit. Take one J-Hook and a nylock nut and
Part Description Quantity fasten shelf to side panel as shown in the photos below.
#16 J-Hook 2 Install the second J-Hook the same way on the other
side of the shelf.
#22 Nylock Nut 2

GEARGRID Hose Shelf Installation Page 2



